(1) Some background / motivations (a) Solution to a PDE  $(i) \qquad \bigcup_{x \times -} \quad \bigcup_{y \in y} = o$  $\mathcal{U}(x, y) = \int (x+y) + \Im(x-y)$ Extending the concept of the Solution to make sense for f, g are only continuous. [Viscosity solutions] Dirichlet principle. - Extending the scope of the solution effectively veduce finding a solution into two steps: (A: Find a weak solution B: Prove the week solution is regular (b) Funcien transform: 1x 2 y - pairing which is bilinear

$$\hat{f}(\xi) = \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx \qquad (, ) - \text{the Hornitian} \\ \int_{-\infty}^{\infty} f(x) \, dx \qquad product.$$

$$\hat{f}' = \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f'(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi i \operatorname{Fr} x \cdot \xi} f(x) \, dx = 2\pi \operatorname{Fr} \xi \int_{-\infty}^{\infty} e^{-2\pi$$

Derivative in X-space (>> multiplication in &-space It is desirable to have more scope for derivative inclusive

C Week derivetives  

$$f \in L'_{ue}(\Lambda)$$

$$g := \frac{2f}{2x_i} \in L'_{ue}(\Lambda) \quad is (alled a week derivetive)$$

$$if \forall g \in C_{e}^{\infty}(\Omega) \quad \int_{\Omega} \frac{2f}{2x_i} g = -\int_{\Omega} f \frac{2g}{2x_i}$$

$$f \times f_{L} = \int_{\Omega} g(\eta) \phi_{L}(x,\eta) = -\int_{\Omega} f(\eta) \frac{2f_{L}}{2g} \frac{2g}{2g} + \frac$$

iff IKCCIL Suppe, Suppeg. CK & Drg. - Drg uniformly on K. Va D(SZ) - the space of distributions is defined as the Collection of linear maps: T: D(rl -> C, satisfying if  $\varphi_i \to \varphi$  i.  $\mathcal{L}(n)$  $\overline{1}(\varphi_{1}^{\cdot}) \longrightarrow \overline{1}(\varphi)$ Topology:  $T^{j} \rightarrow T$  in  $\mathcal{D}'(\mathcal{R})$ : if  $\forall g \in (\mathcal{C}(\mathcal{R}))$ . ( Sume kind of Wesk \*- topo )  $T^{\partial}(g) \longrightarrow T(g)$ (3) Examples. means AKCCR SIFIC+~  $\left( \int_{a} \left[ \xi \right] \xi = \left[ \left[ \xi \right] \right]_{p} K^{\frac{1}{p}} < t \approx \text{ if } \xi \in L^{p}_{\text{loc}} \right).$  $\underline{f}(\delta) = \int \xi \delta$  $\implies If \varphi_{\delta} \rightarrow \varrho \quad \text{then} \quad \overline{T}_{f}(\varphi_{j}) - \overline{T}_{f}(\varphi) = \int f(\varphi_{j} - \varphi)$ 

(b) 
$$M - A$$
 Raden measure  
 $T_{n}(q) := \int q dn$   
 $q_{j} \rightarrow q$   $[T_{n}(q_{j}) - T(q)] = \int \int (q_{j} - p) dn [$   
 $\leq (\int_{K} dn) |q_{j} - g|_{p(K)} \rightarrow 0$ 

In particular, 
$$\int_{p}(q) := g(p)$$
  
is a distribution.

$$\begin{array}{cccc} \textcircled{CT}_{:} & \cancel{Y} \rightarrow & D^{\prime} \mathscr{G}(p) & \text{is also a distribution} \\ & & P \in \mathcal{R}_{:} & \forall \, \varkappa_{:} & \left[ = (-1)^{|\mathcal{M}|} p^{\mathcal{A}} \, \mathcal{S}_{p} \right] \end{array}$$

(4) Two results via approximation.  

$$\frac{Prop q. 1}{F(x)} = \int f(x) \int f = a$$

$$\forall t \quad f_t(x) = \frac{1}{t} f(x)$$
Then  $f_t \longrightarrow a f_0$  is  $D'$   

$$Pf: \forall q \in C_t^{\infty}(\mathbb{R}^n)$$

$$T_{f(q)} = \int f_t(x) q(x) dx = (f_t * q)(o)$$

$$T_{f(q)} = \int f_t(x) q(x) dx = (f_t * q)(o)$$

$$K = \int f_t(x) q(x) dx = (f_t * q)(o)$$

$$\frac{\text{Theorem}}{\text{If } T_{s} = T_{s} \implies f = s \quad \text{a.e.}}{f = s \quad \text{a.e.}}$$

$$\frac{\text{If } T_{s} = T_{s} \implies f = s \quad \text{a.e.}}{f = s \quad \text{a.e.}}$$

$$\frac{\text{Pf.}}{f = t \quad \varphi \text{ be the } C_{c}^{\circ} C(R^{*}) \quad s = s \quad y \neq \varphi \in \overline{B(0, 1)}}{f + \varphi_{t}} \quad (x) = \int_{B(0, t)} \frac{f(x, y) \quad \varphi_{t}(y)}{B(0, t)} \quad e^{\prod_{i=1}^{r} \varphi_{t}} \quad (x) = \int_{B(0, t)} \frac{f(x, y) \quad \varphi_{t}(y)}{B(0, t)} \quad e^{\prod_{i=1}^{r} \varphi_{t}} \quad (x) = \int_{B(0, t)} \frac{f(x, y) \quad \varphi_{t}(y)}{B(0, t)} \quad e^{\prod_{i=1}^{r} \varphi_{t}} \quad (x) = \int_{B(0, t)} \frac{f(x, y) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x) = \int_{B(0, t)} \frac{f(x) \quad \varphi_{t}(y)}{B(0, t)} \quad (x)$$

(5) Derivativos & multiplication  

$$(D^{T})(q) \doteq (-1)^{Wl} T(D^{T}q)$$
  
Clearly linear

$$\begin{split} & \Gamma f = \mathcal{G}_{j} \rightarrow \mathcal{G} \implies \mathcal{G}_{j} \rightarrow \mathcal{D}_{j} \stackrel{\text{def}}{\rightarrow} \rightarrow \mathcal{D}_{j} \stackrel{\text{def}}{\rightarrow} \quad \text{uniformly} \\ & = (\mathcal{D}_{1}^{\mathsf{T}})(\mathcal{G}_{j}) - (\mathcal{D}_{1}^{\mathsf{T}})(\mathcal{G}_{j}) \\ & = (\mathcal{D}_{1}^{\mathsf{H}})^{\mathsf{H}} \mathcal{T} \left( \mathcal{D}_{1} \mathcal{G}_{2}^{\mathsf{T}} - \mathcal{D}_{1} \stackrel{\text{def}}{\mathcal{G}} \right) \\ & \mathsf{Not}_{\mathsf{E}} = \mathcal{D}_{1} \stackrel{\mathsf{M}}{\rightarrow} \mathcal{T} \left( \mathcal{D}_{1} \mathcal{G}_{2}^{\mathsf{T}} - \mathcal{D}_{1} \stackrel{\text{def}}{\mathcal{G}} \right) \\ & \mathsf{Not}_{\mathsf{E}} = \mathcal{D}_{1} \stackrel{\mathsf{M}}{\rightarrow} \mathcal{D}_{1} \quad (\mathcal{G}_{1}^{\mathsf{T}})(\mathcal{G}_{1}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{1}^{\mathsf{H}} \quad (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{1}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{1}^{\mathsf{T}} \quad (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{1}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{1}^{\mathsf{T}} \quad (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{1}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{1}^{\mathsf{T}} \quad (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{2}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{1}^{\mathsf{T}} \quad (\mathcal{O}_{1}^{\mathsf{T}}) = (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{2}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{1}^{\mathsf{T}} \quad (\mathcal{O}_{2}^{\mathsf{T}}) = (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{2}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{1}^{\mathsf{T}} \quad (\mathcal{O}_{2}^{\mathsf{T}}) = (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{2}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{2}^{\mathsf{T}} \quad (\mathcal{O}_{2}^{\mathsf{T}}) = (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{2}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{2}^{\mathsf{T}} \quad (\mathcal{O}_{2}^{\mathsf{T}}) = (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{2}) \\ & \mathsf{Clain}: \mathcal{D}_{1}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{2}^{\mathsf{T}} \quad (\mathcal{O}_{2}^{\mathsf{T}}) = (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{2}) \\ & \mathsf{Clain}: \mathcal{D}_{2}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{2}^{\mathsf{T}} \quad (\mathcal{O}_{2}^{\mathsf{T}}) = (\mathcal{O}_{1}^{\mathsf{T}})(\mathcal{G}_{2}) \\ & \mathsf{Clain}: \mathcal{D}_{2}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{2}^{\mathsf{T}} \quad (\mathcal{O}_{2}^{\mathsf{T}}) \\ & \mathsf{Clain}: \mathcal{D}_{2}^{\mathsf{T}} \stackrel{\text{def}}{\rightarrow} \mathcal{D}_{2$$

The bisser of the spece (lewerk of topolony), the  
smaller is the dual
$$\begin{pmatrix} \tilde{c}(\Omega) \supset \tilde{c}(\Omega) & (\Omega) & (Pic_{1}) \\ & & \\ &$$